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CSAT Answer Key - UPSC CSE 2022
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64 A 64 A 64 64
65 C 65 C 65 65
66 D 66 A 66 66
67 D 67 D 67 67
68 C 68 D 68 68
69 A 69 B 69 69
70 D 70 A 70 70
71 C 71 B 71 71
72 C 72 B 72 72
73 D 73 B 73 73
74 B 74 B/C 74 74
75 B 75 A 75 75
76 C 76 D 76 76
77 D 77 C 77 77
78 C 78 D 78 78
79 A 79 C 79 79
80 C 80 D 80 80
Note:

1. We don't claim this answer key to be 100% accurate. No one can predict UPSC's
perspective in comprehension questions. We are providing the answers which
we think best fits to the question.

2. Set C and Set D will be updated soon




